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I will rather say - 7993 KXY DRI PRI 719715 7197120 RAOK NON
that from one state to another state in >''X he is not required

OVERVIEW

The X3 rejects the proposed refutation of 77127, which was inferred from the
phrase 7% *"7712 7171% 7171, We should not infer from this phrase that
TI¥ PR 7372 AR (which would consist a refutation of 7727), but rather the
mwn phrased it in this manner so that we should infer from it that 71717
TOX PR O"R2 772 (which supports 7127). It seems that this phrase n1°7nn
T°IX °"77712 130712 may by interpreted into two opposing inferences; i.e. TnIR2
TOX PR C"TRa 7 (a refutation of 7127), or TIX PR "R APTAY OTAN
(supporting 7127). MdOIN will be asking (according to 727); why does the
7Iwn use a phrase that may be misinterpreted, when we can find a phrase that
can be interpreted only to support 727.

nvon asks:
= 1135129 1311919 VP INNINI VINN ON)

And if you will say; why mention that he brought the vi from one country

to another country. Since 7127 is of the opinion that a v that is brought anywhere in
"7 is required to say 1"92. then —

= 99199 7998 DN NN NIPTN NHINA V) RXANN 2N
Let the mwn state; a m>w who brings a v in the same country overseas,

is required etc., to say 1"53. We would then be able to infer -
- 15129 NI PN NIDY NPT NN PN PR INIY YINA N

However, if one brings a v in ¥"'X he is not required to say 1"52; whether it
was in the same state in °"X and similarly if it was brought from state to

state in °"x. In all cases one would not be required to say 1"52. If the purpose of the 71wn
saying °"n 2 a»me npTan is that we should infer that °"X2 71°7% 77 one is not
required to say 1"93, we could accomplish this by stating more simply that if one brings a
v3 in >"777 (even) in the same country one is required to say 1"93; inferring that in >"X one
is never required to say 1"92 even if it is 71°7% 71TN.

mooIn anticipates the following question: If the 71wn would have stated that 717 7NX2
T"I% "33, we could only infer that 7°9¥ X "X2 717 7nR3. We would not be able to
infer that 9% X "X 72715 71791, Therefore (according to 727) the mawn chose to state
that 7% >"7792 A7 A7, and (only) from this we can infer that 17X °"R2 772 7170
T,
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mooIn responds; that in the view of 727 once we infer that 7°7¥ "X °"X2 717 7NX2, then
we will inevitably conclude that >"R2 73717 71711 also 7% PR, —
= 1135799 13791 1229 NI NN 122 PPN PN NA9DT

For according to 1139 there is no conceptual difference between bringing

the v3 in the same state, and bringing the v} from state to state. Once we
know that *"R 71°7 7INX2 you are not required to say 1"93, obviously they are 7w PR,
The same rule would then apply to °"&2 737 770, since according to 727 the (only)
reason for saying 1"91 is because nnw? 1°X°p2a PR. The question remains why did the mawn
state that 127 7% >"777%2 715 19700, the Mwn could have stated that °";771m2 7377 70IR2
91 !

N1B0IN answers:
- N9 NYT 1PUNIWUNRY 591 0PIT )Y W

And one can say; that the 7iwn states it in this manner of 71721 X217

21 °"1172 170717 to let us know that we should not mistakenly surmise if
the mwn would have stated 121 >";7723 77T AR K227 -
= N295 0P DIVN 99 THI8 IR TINA NI NIYTRNT

that from one state to another state in °"'X one is also required to say 1"92

in order to authenticate the 0>7v as X29 requires?, therefore -
- OYP DIUN INY NIYOT TS PN 1Y $DUN NP

the 71wn teaches us by stating that (only) 7% >"17722 710725 73070 X207 but
P"'R2 717 17PN XA is not required to say 1"93, because the reason of

saying 1"91 is not on account of 213, but rather only on account of 7w5?. The °13
>R, since they are nnwY 1"R°p2a are never required to say 192 even 717722 710N,

moon will offer another reason why >"X2 71729 171 one is not required to say 1"92
even according to the X1pon that *xa77 7% N°X 727

' We would gain by stating 7% 72> A2 that there would be no possibility of the misinterpretation that
can be caused if the mwn states 7> *"'71712 7% 7971 X2, namely that *"77m2 71071 ANR3, one would
not be required to say 1"92 (see ‘Overview’).

* We are indeed presently discussing 7121 who is not concerned whether there are ¥»p% ¥ 0779, However
were the 71w to state 7°7¥ °"717142 72371 7NR2, we (who are not certain whether 7127 or X217 is correct) would
only be able to infer that *"X2 7271 7MR2 there is no requirement for 1"53. However "X2 711 7171 there
is a requirement to say 1'93, for perhaps X217 is also right. By stating 1% *"7723 0% n17nn, thus
excluding >"Ra 71> 71700, the 7awn (according to 7127) gives credence to the view of WY, and disregards
the view of op.

? According to the X1pon of the X»3 we maintain that 7127 agrees that the oyu for saying 1"93 is both on
account of 7nw% and arp. We cannot therefore give the previous answer of n190n that the 73wn states 72>7n
T 2"Tea 1A% to exclude U"Ra 1T AR from saying 1", since we are not concerned about 01p.
According to the X101 even 712 is concerned about ovp. Why should "Xa 11717 n11an be excluded from
saying 1"92? Therefore mMdoIN presents us with an alternate answer.
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$PYUNITI DI9H MY IN'IVT DIV ) ON
Or you may also answer; one is not required to say 1"92 by 11722 71711
""X3, because there were frequent 2°937 ¥91» who came from all parts of >"X
to the wipna n°a and they traveled °"Xa 1% 77n therefore there were
always 1™p 1% 0°7Y, as the 13 will shortly conclude.’

SUMMARY

According to 727, the mawn states X "nTnR2 71TAY 01T, so we should
infer, that 7% PR °"'R2 71717 ar7an. In the RAX M7 the 7 1S ¥ PR
because we are not concerned about 01°p. In the Xi1pon there is no concern of
arp since WP P¥n 07y, Had the miwn said 7% »"a7ma 9 amxa, 1
would think that 7°7% >"X2a 7°7% 71727, In the X" that would be a refutation
of 7121 that 1"91 is said only on account of 7mwY. In the X1p0n it would cause a
false conclusion that *"X2 7171 73°727 there are no »PY 18N D7Y.

THINKING IT OVER

mooIn states that the term *"77172 77 7NIX2 may lead us to conclude that
>R 73727 7377 one is required to say 1"92. There is a similar problem with
stating X "2 0% 01T, for we may infer that °";717%2 7297 NIR2 one
1s not required to say 1"92. It appears that this is a worse conclusion, as far as
127 1s concerned, than the previous concern. In the former we may conclude
that maybe X217 is also correct; in the latter it completely refutes 727. Why
then (according to 1727) did the mwn choose the phrase °"77n2 7117 71T
TP

* That even according to X2, a 3 that is brought "2 737795 77, there is no requirement to say 1"92 since
07y are °OW.
3 See ™ 7"R2 "7 77 ' "W "R T
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